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PHYSICS 9TH GUESS 202

12/12 MARKS CH#

MULTIPLE CHOICE QUESTIONS

Q1. Choose the correct answer.

-uf ﬁa}h,.;n:r;: e ol B J". 1 / J |y

1. The word “science” is derived from:

English J*¥'1 (D) Latin v (C)

e SAEE UL
Arabic &~ (B) Urdu »5.1 (A)

2. The branch of physics which deals with study of motion of
objects, Is called:

:r:_&LL:'/HT_J"L;':.A&*L;FFQKFL%FEE‘,L&;:JU;}; 2

Sy 3 (D) Mechanics .-,rﬁrf (C) Kinematics o' ¥ (B) Sound it (A)
Thermodynamics

3. The study of internal structure of Earth is called: :;.t:*tl:f,ﬂlir Kt Qs f s 3

Heat .- (D) Sound 3. (C) Geo Physics ¢ 7 (B), " Atomic Physics /7 i (A)

4. Refrigerator is based on the principles of: ?u;ri.ﬂgﬁ_.l:f...-:_,dflkf FA ﬂj 4

Light =2 (D) Sound k.- (C) Sy 2 (B) Mechanics = (A)
Thermodyhamics

5. The basic quantity is: e B S D

Momentum ~<"++ (D) Torque /2t (C) Volume ¢+ (B) Mass 1t (A)

6. Identify the base quantity: S el 6

Distance L6 (D) Force...4(C) Area L. (B) Speed Lr (A)

1. The number of base units in Sl are: el L}’J"'gd;g,-_,r:,-_,ﬁ ;-‘rﬁ" N

Nine /(D) Seven-=+ (C) Six # (B) Three £ (A)

8. Which one of the following is not'derived-unit? S AL et 8

Watt =1s (D) Newton ./ (C) Kilogram /¥ (B) Pascal £ (A)

9. Amount of a substance in terms of numbers is measured
in:

Y ﬂ_)’}".‘l‘” S Jf_..:l.ulf 2 JJ/ 9

Mole. (D) Newton ¢/ (C) Kilogram ¢/ (B) Gram ¢/ (A)
10. The number of basic units-are: :;;MJ&};&:Q_ 10
Nine # (D) Seven = (C) Five & (B) Three ¢ (A)

11. Kilogram is a:

Derived quantity .i.é 4. (D) Derived unit =43 #. (C)

:»:l‘_...ler‘ffF:b/ A1

Base quantity .i.é- L (B) Base unit =y (A)

12. The unit of density in system international is:

K T 2

Kgm* (D) Kgm? (C) Kgm™ (B) Kgm (A
13. An interval of 200 micro seconds is equivalent to: -{_.LstJ,.ﬁtE/,b?sf 1200 .13
2 x107%s (D) 2 x 1074s (C) 0.02s (B) 0.2s (A)

14. Which one of the following is the smallest quantity?
5000 ng (D) 100 grams (C)

?;;.Jrfc.gxlﬁu’d:f:. Mo 14
2mg (B) 0.01g (A
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15. One micro meter is equal to: e A F VA5

102 m (D) 109m (C) 103 m (B) * 106 m (A)

16. One millimeter is equal to: :.;_,..a;|,,¢};';_,l'.4_ﬁ 16

1m3 (D) 1.dm?3 (C) 1cm? (B) 1 mm3 (A)

17. One tera is equal to: el i L AT

10'8 (D) 1012 (C) 1018 (B) 10-12 (A)

18. One meter is equal to: e sl L) 18

100 mm (D) 10000 cm (C) 100 cm (B) 10 cm (A)

19. One Mega meter is equal to: PRy AN [

1012 m (D) 106 m (C) 10°m (B) 106 m (A)

20. One Giga gram is equal to: e ,,;u,,;lxjféf ~1.20

10 g (D) 103g (C) 107 g (B) 10°g (A)

21. One pico meter is equal to: :;;_,f;n,,:j-:,}?;.iﬁ 21

10¢ m (D) 106 m (C) 102 m (B) 102 m (A)

22. Which instrument is most suitable to measure the sl ST ia’.fr:'*‘ﬁ;:}uﬂﬁ’_,f e 122
internal diameter of a test tube? Cer

Screw gauge &+ (D) Measuring tap =5« (C)  Vernier Calipérs ;,;ff-}s (B) Metre rod 5u}: (A)

23. A student claimed the diameter of a wire as 1.032cm Jl..;T_y’p”f‘)fJ 1032 215600 . 5 J_f}i:;.[)‘ M f1.23
:]vsitiﬁtyemier Callipers. Upto what extent do you agree ‘B e =

1.032mm (D) 1.03mm (C) 1.0mm (B) Tmm (A)

24, A measuring cylinder is used to measure: -,T_L'Zf:w"l-*:‘*’.;.giidf . .24

Level of a liquid J«¢ZLs" (D) Volume(C) Area L (B) Mass ¢ (A)

25. A student noted the thickness of a glass sheet using a ;;J:': U r*;J"‘ JE:*J:;PL}HEE'F.@ g f;ﬂ_{} .i.(“ o (125
SCrew %ua_ge._ﬁn the main scale, it reads<3 divisions I EFL Y- ¥ AL TE LTIy _.::uﬁ_..;_ 23Sk
while 8" division on the circular scale coincideswith :‘;ul:m_,fwa)u"l-;_

index line. Its thickness is: ‘ ‘

3.08 m (D) 3.8 mm (C) 3.08 mm (B) 3.8cm (A)

26. One cubic meter is equal to; e s L L) 26

108 liters (D) 10 liters (C) 1000 liters (B) 100 liters (A)

27. One liter is equal tox, .. v milliliters: e PG e A1 2T

10° (D) 104 (C) 10% (B) 102 (A)

28. One liter is equal to: e sz 2L 28

1m® (D) 1dm?® (C) 1cm® (B) 1 mm (A)

29. The least count of meter rule is: KL 29

1¢m (D) 0.01 mm (C) 0.1 mm (B) 1 mm (A)

30. The length of a meter rule is: :;;-.JHJ.LJJ;!; ~ 30

None of the above (D) 2 meters (C) 0.5 meter-(B) 1 meter (A)

31. The least count of a Vernier Callipers is: e P B

1¢cm (D) T mm (C)

0.01 cm (B)

0.01 mm (A)
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32. The least count of a digital Vernier Callipers is:

e e S 32

1 mm (D) 0.1 cm (C) 0.001 mm (B) 0.1 mm (A)
33. The least count of a screw gauge is: P11 _,ffKCK;*} 33
1 mm (D) 0.01 mm (C) 0.001 m (B) 1cm (A)
34. Significant figures in an expression are: Iﬁiﬁ;ﬁffruﬁ;ﬁf 34
o (D) ) (C) e xip e ol (B) all the digits — »¢7 (A)
e SRl e prp ot el e .’E‘LL;':_’JILF{I"?“"FJJI"U all the accurately known
all the accurately known and all the accurately known digits

all the doubtful digits  digits and the first doubtful

digit
35. The number of significant figures in 0.00580 is: el pﬁ'.,hllr,.-.::rﬂunf[}_o[}53[} 35
2 (D) 3 (C) 3 (B) 6 (A)
36. 0.027 has significant figures: e a2 1020.027 .36
4 (D) 3 (C) 1(B) 2 (A)
37. Motion of objects is studied in: _.f:_tnfl_..f S s’ff,-fr-l.,ql 37
Sound 3. (D) Plasma ;i (C) Light =2u.(B) Mechanics f‘f (A)
38. A body has translatory motion if it moves along a: £ )9 NP /.Jz[ ﬁuﬁr’d}‘)‘uj 38
Sle (D) Curved path z1..1:7 (C) Straight lifie.¢z £ 1 (B) Circle 515 (A)

Line without rotation

39. The motion of a body about an axis is called:

J»éx45(D)  Random motion o/ (C)

Vibratory motion

-;:_JLL»(J ¥ pr/‘? J/';' 5./'5 F’___,J 39
Circularmotion of» £ - (B)  Rotatory motion o#» =+, (A)

40. The straight line motion of a body is called:

J»éx45 (D) Random motion ¢Fx - (C)
Vibratory motion

MW P 2 A0
Linear motion o7+ =4 (B) oS 2 (A)
Translator motion

41. The motion of a pendulum of a clock is:
Random motion 7+ (D) Linearmotion o#+ = (C)

Z:‘:.JFJIJL'E;LJ/LK 41
Rotatory motion o +$ %+ (A)

-

J S xA (B)
Vibratory motion

42, The motion of a steering wheelis:

Linear motion 7+ ¢ (D) o #6241 (C)

Vibratory motion

- e e

- j ¥ JL,J:: !»..L:;F' 42

Rotatory motion 7§ %, (B)  Random motion o>~ (A)

43. To and fro motion of a hody about its mean position is
called

Circular motion ¢#+ £ - (D) o v$ A (C)

Vibratory motion

,f;_JLLprrdrs.LLfdl,;;é*iTLﬁr;f.ﬁ 43

Random motion *» % (B) ~ Rotatory motion 7+ % (A)

44, See-saw is an example of:

J»SeA1(D)  Random motion o*» 4. (C)

-& JL‘?‘*.{IJH q_;rgLfLE" A4
SR (A)
Translatory motion

Linear motion o7+ =4 (B)

Vibratory motion
45. Brownian motion is:
Random motion ¢~ » ¢4 (D) oS 241 (C)
Vibratory motion

f::'_.;;,fif‘ ;:.J:"!FI'J: 45

Cireular motion ¢*+* - (B) Linear motion ¢+ 4 (A)

46. The flight of a butterfly is called:

Rotatory motion o7+ %1 (D) o641 (C)

Vibratory motion

& o e
:"[—-I..?"?"Ll' L:P 46

Circular motion ¢#+# - (B)  Random motion i (A)
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47. Which of the following is a vector quantity?

-
?;r_.ﬁ:;lﬁg_j'u;-:. ufuti,g;ﬂ 47

Power s (D) Displacement === 3 (C) Distance Lt (B) Speed i (A)

48. Which one of the following is a vector quantity? Ce i }ﬂy{rduf:. Lo A8
Mass ot (D) Velocity 1+ (C) Distance L6 (B) Speed Lr (A)

49. Which one of the following is a vector quantity? Ce i A LIS o e i psae 49
Mass . (D) Power s, (C) Work s (B) Force .4 (A)

90, ......... s not a vector quantity? - L,r" S /-( T I 50
Torque /¢ (D) Work s (C) Velocity & vs (B) Displacement »o=+"; (A)

51. Which of the following is a scalar quantity? ?{_;nﬁ*/kﬁ Lo st B
Torque %t (D) Velocity ¢ us (C) Power .:_ (B) Force ¢ (A)

52. Which of the following is not a scalar quantity? ?ﬁ;ur:-"" N K Sof e St ioe 52
Power s, (D) Displacement =-<¥"; (C) Distance -t (B) Speed 4~ (A)

53. Vector quantity is: e Ay 53
Power s, (D) Displacement =-=¥"; (C) Distance 1t (B) Speed i+ (A)

54. A ball is thrown vertically upward. Its velocity at the
highest point will be:

B o - o & o~ * fﬁ
--fﬁgulrl.,;rh»;ﬂ;;;l.-g_y Efﬁ-_.!/l’o,;;llnffjf ..Ju:| o4

100ms™ (D) Zero (C) 10ms='(B) -10ms™ (A)
55. A change in position is called: _;;_JM uL 5 pﬁ;ﬁé’}g 55
Distance -t (D) Displacement o= 3 (C) Velocity (v (B) Speed .- (A)

56. A train is moving at a speed of 36kmh™. Its speed
expressed in ms™ is:

25ms™' (D) 20ms1(C)

mrgdiuims e §S 7 e by S36kmh 20 56

10ms™ (B) 5ms™! (A)

57. A car, starts from rest and attain a velocity of 20ms= in8 ¢ & }:EUui,bJ;_’;Sﬁfg_ﬂf& et e oSt L) BT

seconds, the acceleration of car will be:

0K e M (Jl-ﬁ"_.;x;ruwb&l.l:

3.0ms* (D) 2.5ms* (C) 2.0ms (B) 1.5ms™2 (A)

58. A sprinter completes its 100 metfe.race in-12s}its a5 u,-wulrn.;_.rfu 1208 21005 k1 58
average speed will be: i

8.33ms™ (D) 8ms™! (C) 12ms™ (B) 100ms™ (A)

59. Unit of velocity is: -~ LB s 99

Meter (D) Second £ (C) Meter per Second £~ (B) Meter per square & 3.~ (A)

60. Speed of falcon is:

200kmh" (D) 300kmh! (C)

250kmh-! (B) 150kmh™" (A)

61. Acceleration is equal to: P, ;;,_',?:—’)’5 61
v +v?/2 D v =v?/2 (C vtV V=V,
f (D) f (C) i g AN
t t
62. The speed of cheetah is: et 62
90 kmh'! (D) 100 kmh™' (C) 70 kmh™' (B) 200 kmh™" (A)
63. If an object is moving with constant speed then its S e KF A S Dot N2 Lt 2200 7 0 ) 63
distance time graph will be a straight line: s B
o257 (D) e s LAk (C) e e S AL L (B) o terd A1 (A
Inclined to time axis Parallel to time axis Along distance axis Along time axis
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64. A straight line parallel to time axis on a distance time ALt/ el At it e e 64
graph tells that the object is:
In motion < %7+ (D) =7 e dr S840 (C) Atrest < =22 (B) e e (A)
Moving with variable speed Moving with constant speed
65. If an object is moving with constant speed, then its Bl L1 ( b ¥ s (I 7 e 257 g ,.u)l 65
distance-time graph will be a straight line: _ffrﬁ“’”
r;_l.g::..;;«ﬁfu (D) JaLl :rlfL- (C) L4146 (B) Along a time axis £ 41 7¢ (A)
Inclined to a time axis Parallel to a time axis Along a distance axis
66. The area under the speed-time graph represents: bl L ey 66
Velocity v (D) Time #¢ (C) Speed 4r (B) Distance -t (A)
67. Convert 54 kmh™" into ms™: AL smsT B54kmh ! 67
20ms™ (D) 15ms™ (C) 10ms” (B) 5ms (A)
68. Complete the equation: v —v?=....... .. =vf-vie ./, il 68
t (D) 2aS (C) Vay (B) S (A)
69. Complete the equation: vy=......... A =V /| u"‘f:.,r:u .69
S/a (D) + at (C) vi + 1/2at2.(B) —at (A)
70. Third equation of motion is: el Al 70
F=ma (D) v — v = 2aS (C) {; Vit at (B) S=vt (A)
71. The acceleration of a body falling down freely is *.;-_.-j:ﬂg Yoy ;_;’Efﬁ.lﬂi airl.-z-n;:_ﬁ.?_fé =T T
approximately:
10 m%s™ (D) 10ms™ (C) 10 ms (B) 10 m%s™ (A)
72. Which of the following is the unit of momentum? i;;.csgﬁ’ﬁ;frf:.ﬂjjgfﬂ 12
Ns (D) Ns(C) kgms™ (B) Nm (A)
73. Inertia depends upon: ‘e g L,f’fil.ﬂ;fi{?fls;.uiutjgsﬂ 13
Force ¢ (D) Net force s (C) Mass . (B) Velocity (715 (A)
74. The quantity possessed due to mass afid.velocity of a N>R - PN IS4 5 .74
body is called:
Inertia L=/ (D) Momentum ~<"» (C) Velocity v (B) Acceleration o~ A= {A}
75. Formula of momentum is: _;;_UrJEK(’f » .19
M=mv? (D) P=mv' (C) P =mv (B) M=mv (A)
76. Mathematically momentum is defined as: - 7 Jf""f f'.;.ﬁf_;- )’QLP 16
P=mv (D) P = (mv)? (C) P =mv? (B) =vim (A)
77. The product of mass and velocity of a body is called: -wdf Yo U Jp.ﬂ_.u’umrgtf_.(]f A7
Momentum ~= "+ (D) Work 7 (C) Force .4 (B) Torque ¢ (A)
78. The Sl unit of momentum is: -.f_ﬁgbﬁuﬁ'ﬁslf}#{f"‘fr .18
Ns (D) Ns (C) Kgms™ (B) Nm (A)
79. A string is stretched by two equal and opposite forces 10N S L o ,fwf 14l f;;baJl:rm ki .79

10N each. The tension in the string is:

20N (D) 10N (C)

08 v LF'F‘JJ.J J,_,J:,L-:.

oN (B) Zero (A)
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80. The mass of a body:

None of these ' (51 (D) T gy (o)
Decreases when moving

with high velocity

:JLKﬁA‘) ..J.:' 80

.f_t"lf:m[.r.i..;..j_/.igj"-(r (E} r_r'_bl.fvﬁff,—;L;._*.;/L{I (A)
Increases when accelerated Decreases when
accelerated

81. Two bodies of masses mq and m, attached to the ends
of an inextensible string passing over a frictionless
pulley such that both move vertically. The acceleration
of a bodies is:

|“"L-'"’.‘fﬂ ib,flv EJJFmp:;;_J!fi' Uﬁdu.i.;}?;;.fi;ﬁf}é_.,{] 81
-f.ﬁ';ﬁ ..lKlﬂl,..qrull_u;rL ._-:,-"‘:?I?uf u;:ijpf._ﬂiﬁ,)url

2m1m2 m1+m2 m1_m2 m1xm2
g (D) g (C) g (B) g (A)
82. When horse pulls a cart, the action is on the? ?,f_t-;:,;g,rfﬂlif_l:jf L,f-';fnjﬁi.s: 82
Earth and cart ,$5€.0 2 (D) Horse ;< i+ (C) Earth .= (B) Cart &6 (A)
83. Newton's first law of motion is valid only in the absence s b1k » o s6 #;iﬁ:fg,ﬁ j v S et 83
of: fe
Force ¢ (D) Net force o4 (C) Friction *} (B) Momentum ~<"»- (A)

84. A boy jumps out of a moving bus. There is a danger for
him to fall.

e Ll J-.:«ff {D:] Py urﬁrff {G}
Opposite to the direction of In the direction of motion
motion

‘?.»T_n/bjgi.j._?)’ufﬁu"l_;_ t*ﬁ..fu@ 2 A u"-lgj;fﬁ‘lgﬁ -1 .84

S ARGE (A)
Towards the moving bus

()
Away frem the-bus

85. Which of the following relation is correct?

=My JLJL-* ;I,rf;. L,E'_'ii,.;.x.ﬁ-f* 85

F=a/m (D) F=mla (C) F =ma (B) F=m-a (A)
86. A mass of 6kg is moving with an acceleration of 2ms™. e J’f {,u’l-{_g;f:.f f.:.;f""“i)’-“iffii?ms‘z,/’f .{rs’b‘kg .86
Force acting on itis: ~

12N (D) 3N (C) 4N (B) 3N (A
87. Weight ‘w' is equal to: ~e sl W his BT
-1 =9 _m w=mg (A)

ma (D) W=_-AC) p (B)
88. The unit of weight in system international is: —e LB e J;: ;—‘lf“'/ 88
Newton /5 (D) Pound 3 (C) Kg ¢/ ¥ (B) Dyne ¢/ (A)

89. How much acceleration is produced by a force of 100 N
in mass of 50 kg?

¢yl ﬁfﬂkﬂ A 7 1 L 50kg o4 S 100N .89

2 ms* (D) 0.05 ms™ (C) 20 ms™ (B) 0.5ms™ (A)
90. 1 Newton is equal to: sk 90
1kg'm's" (D) 1kgms™ (C) 1 kgms (B) 1 kgms™? (A)
91. The weight of a body is 147 N. Its mass will be: Fu U1 147N .,;J;:K()*..{I 91
1.47 kg (D) 0.147 kg (C) 14.7 kg (B) 1.47 kg (A)
92. Rate of change of momentum is equal to: _.T_Jﬁ,fu;fj@ﬁgbﬁf‘yf 92
Distance i (D) Net force o.¢ . (C) Force ¢ (B) Torque ¢ (A)
. P{=R, PE%P; 93

Complete the equation: —£ t J IS et

t

M (D) T(C) S (B) F (A)
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94. According to law of conservation of momentum:

_M __mv
== ) v=-"00

:&Uz*‘iiu,l;ﬁ i;ﬁiu}ﬂ LI}{J" 94

95. Which of the following material lowers friction when
pushed between metal plates?

Oil 7 (D) Air 15 (C)

M m
“ v © " W
,;,'I;.Eirg;'k‘.ﬂi.'.,,J;évdf:Lfifﬂffbtﬁu;gk;ytjeiﬂ 95
tedbxnf o fonl
18 2 o (B) Water J¢ (A)

Fine marble powder

96. The force that opposes the motion of moving objects is:

-{_J/l,.f;_.-.‘.dl{; :;’EFJF'L{'L:’:L/":IFEJJJSM 96

Momentum ~<"» (D) Friction o*"} (C) Action o**1 (B) Weight cs (A)

97. The maximum value of friction is called: -{_SU-;(:..E Ml_..J»:.MI_._de;;Jy:} 97

Kinetic friction .*j_&-d¥ (D)  Limiting friction .* _2/(C) Normal reaction o*15./t (B) Cold welds ;.45 (A)

98. Coefficient of friction is equal to: . AL ;98

F<+ R (D) R/F; (C) FR (B) F/R (A)

99. Coefficient of friction between glass and glass is: ceedfeddn o Aden Lk 99

0.2 (D) 0.8 (C) 1.0 @) 0.9 (A

100. Tthe Iv_alue of coefficient of friction between steel and _ﬂ-_;,.ﬂ_'_' L’;._»...:-:,i_fﬁrf Lu’ﬂ’;}ﬂ?iﬁiuffﬂ'utb 100
steel is:

0.8 (D) 0.9 (C) 0:09-(B) 0.05 (A)

101. Coefficient of friction between tyre and dry road is: AW R S ol L5 2k 101

0.2 (D) 0.05 (C) 1.0 (B) 06 (A)

102. Coefficient of friction between the tyre and road is: ceed S @ o e nZ it 102

1 D) 0.8 (C) 0.6 (B) 0.2 (A

103. Coefficient of friction between the ice and woodhis: ceed el L ol 58 w103

1.0 (D) 02 (&) 0.05 (B) 0.29 (A)

104. Coefficient of friction between the iron.afd iranvis: et S L ponl g mus 104

1.0 (D) 0.8 (C) 0.62 (B) 0.9 (A)

105. The force required to move the'car in a‘curved path is: e 3 L ST s 28 105

U8 S G A (D) SENC () Tension o (B) AFRS ()

Centripetal force Gravitational force

Centrifugal force

106. Which force rotates the body in a circle?

o3 Fi§ (D)
Centrifugal force

A JES A (C)
Centripetal force

‘?{_.JI:;:.J?uf.f_.ﬁl::"t/?uﬁu}fu’;;,)}( 106

S50/ (B) Magnetic force ¢ £ (A)
Gravitational force

107. The number of forces that can be added by head to tail i.:_-_m.;.tl:t;gc:’*ﬁf 9w id e S Jis ke 107
rule are: '
Any number 5. & 34(D) Four ¢ (C) Three . (B) Two 5 (A)
108. The number of vectors that can be added by head to cenee LW 18§ A e S i 108
tail rule is:
Any number ..oy (D) Four . (C) Two »: (B) One {1 (A)
109. The number of perpendicular components of a force _;;_;:Emsﬂufui’f At E A 109
are:

Four ¢ (D) Three ¢ (C)

Two 1 (B) One {1 (A)
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110. A force of 10N is making an angle of 30° with the

J |'KJJJJ-.-;.3I:¢ K300 AL -/rflx—w}_g? Se7#10..110

horizontal. Its horizontal components will be: E oy
8.7N (D) 7N (C) 5N (B) 4N (A)
11. Sin6="? Sing =17 111

perpendicul ar perpendicul ar base base
base ©) hypotenuse © hypotenuse ) perpendicular A
112. Tan 45°is equal to: - s1.1an45° 112
1 (D) 0.577 (C) 1.732 (B) 0.5 (A)
113. Sin 45 is equal to: -;j_JfIJ:SinﬂlSq 113
1 (D) 0.707 (C) 0.5 (B) 0 (A)
114. Sin45°=Cos45°= ... =Sin45°=Cos45° .114
0.707 (D) 0.866 (C) Undefined (B) 1.732 (A)
115. The value of sin 90° is: e =d Jsin90° 115
0.5 (D) 10 (C) 1 (B) 0 (A)
116. The number of perpendicular components of a vector -‘;_,:r,aﬁuf.-,rrf;;f;j:f L }‘;I:au’f 116
are:

One (i (D) Two 5 (C) Three - (B) Four ¢ (A)

117. Formula for the direction of resultant force with the help
of rectangular components is:

6=cos™'Fy/F, (D) 6=sin""Fy/F, ()

. : 7
- LIF'JGE/LIF"P&‘JL{UEJ.}! LNy i A Ju"':.&: S T

g=wn Fy/F, @) 6=tan"'Fy/F_A)

118. The direction of force ‘F’ with x axis is given by:

6=cos™'Fy/F, (D) 6=sin""Fy/F, ()

-g.ur;ﬁﬁ’ﬁ.fr#‘;ufLx—axisyuﬁF‘Jgﬁu’r 118
6=tan""Fx/F, ®) 6=tan"'Fy/F, M

119. Complete the equation: 8 = ..........
6=cos™'Fy/F, (D)

......... =0/ =i M9

9=tan'1Fx/F}, (B) 9=tar|'1"':1.;/a':}f (A)

120. In a right angled triangle, length of base.is.4'cm and its

Sos MBI Zr I emAS Sosbh i el o /1275 L1120

hypotenuse if 5 cm. The length of.a perpendicular is: _J,_,:_,——‘}-,J-vdy

9cm (D) 20 cm (C) 3cm (B) Tcm (A)

121. Aforce of 10 N makes ‘an angleof 90° with x-axis. Its  seeessd Pi61_c Jb .s8900 S L x-axisod L1GN10 121
horizontal componentis: ¥

Maximum est =L (D) Zero # (C) 5 N N5 (B) 10 N'N10 (A)

122. In a right angled triangle, length of base is 4 cm and tanﬁ-.-;_Schg,JJuf J:MCFﬂJHUﬂA&FUf&ﬁ*f:E/fﬁg.;’ 122
perpendicular is 3 cm. then its tan ?? is equal to: hwed i

0.6 (D) 1(C) 0.75 (B) 0.8 (A)

123. If Fy = 4N and Fx = 3N, what is the magnitude ?jﬁ_lﬁlﬁ;_':}:«ﬁ;;U;;JLJJEJ!?::FFSN;HF}f=4|'\lf} 123

of resultant force?

10N (D) 12N (C) 5N (B) 7N (A)

124. The tumning effect of a force is called: :;_;;?‘:J S L iy " 124

Work s (D) Pressure 2 (C) Torque - ¢ (B) Momentum r”’ +~(A)
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125. Torque is equal to:

= — F F
r=FxL (D) r=Fxt(C) r== (@) == (A
126. In SI, unit of torque is: _,T_ggsuﬂl:u:ﬁ}jf" 126
Ns (D) Nm? (C) Nm! (B) Nm (A)

127. The perpendicular distance from the axis of rotation to
the line of action of force is called:

e bkl ol o5 € d ST P ST FUe 0T A 2T

Work _s (D) Momentum ~<"+ (C) Moment arm (7..2+» (B) Torque ¢ (A)
128. The centre of gravity of a triangle is at: e bnly Jut }@K.f,ﬁgr 128
6 5L5(D)  Centre of axis +/J7 4 () 25130y (B) Centre ~ (A)
Point of intersection of Point of intersection of
diagonals medians
129. The centre of gravity of uniform ......... sheet is the ebn N - PP fEE1Y s 129
point of intersection of its diagonals: ' Ay
Square ¥ ~ (D) Circular ring §..% - (C) Solid cylinder §.24_# (B) Triangle ¥'=t- (A)
130. Centre of gravity of a sphere is at: -;.t'ﬁ&jgf T4 4130
None of the above 2’ /(D) A i L~ (C) Ay () A8 (A)
Radius of a sphere Outside of @ sphere Centre of a sphere

131. Point of intersection of medians is the centre of gravity
of a uniform:

Triangular sheet =23 (D) Solid cylinder .2 # (C)

-JT_.E'!FCE_{;FJT}LKH.......l*‘JLEffa;!pL?ZL-;;Jaﬁu’?-:;-lkf! 131

Gircblar fing &% ~ (B) Rod 5. (A)

132. Two equals but unlike parallel forces having different
line of action produce:

» ¢Jﬁ¢;ﬁ_.af?gf§147JuKuﬁ;rJJugunu'?J:m: 132

£ 48124 (D) Equilibrium( s £4() Acouple £ (B) Atorque Lk (A)

Neutral equilibrium
133. A couple is formed by: ::;_.I;'TUGJJJ{...{I 133
_ ) {D) £ _(C ;:-_;-”JL}JJjgfdu (B) ;yjsidﬁrf,;c_faj_éﬂs: (A)
ASiendnd Lo UG S sl fole s Lo fuf:w’ﬂu‘*-‘:)f two like parallel forces  two forces perpendicular to
= A = each other

two equal and opposite two equal and oppsite forces
forces not in the same line In the same line

134. A body is said in dynamic equilibrium if it has:

ﬁﬁg’&i}tiﬁ/{nj ﬁlf‘;ﬁf{ru&/l'glﬂfé;‘uf({:}
Zero acceletation Uniform speed and
acceleration

:Jl__.eﬁ;_t',ﬁuir!/;d:fnil:fﬁﬁ_{l 134

Uniform speed ¢ 4x S (B) ﬁ,w;g;‘r:’,t-ﬂf{m
Uniform acceleration

135. Abody is in neutral equilibrium when its centre of
gravity:
:’_LT-;J..'I'J:.JH {D)

: s'_'_l.}fu',;;:{ﬁﬁ:ﬁfl {C}
Is situated at its base

Keeps its height if displaced

:ig:f...il'};’b’wﬁ%rﬁuﬁﬁﬂdﬁdfﬁf.fl 135

vyl 7 (A)

w474 e (B) _
Is at its highest position

s at the lowest position

136. A body is in equilibrium when its:

v iz 4 M ke (D) sy M (C)
Speed and acceleration is Acceleration is uniform
uniform

I,ﬁ.;:.t'ﬁuﬂl{/?dsgiﬁhg 136

i (A)
Acceleration is zero

sl o kx (B)
Speed is uniform

137. The conditions for equilibrium are;

Four . (D) Three < (C)

L fSE Ak A3T

Two s (B) One {1 (A)
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138. According to 2" condition of equilibrium, must be zero:

—& b, "Wﬂ%ﬁdﬁudf"/d:{f 138

Sum of forces ++7¥~.# (D) Rotational force o 441 £ (C) )f £J(B) H A IE(A)
Linear acceleratlﬂn Angular acceleration

139. States of equilibrium are: e Ak 139
Four .t (D) Three . (C) Two » (B) One {1 (A)

140. A pencil lying horizontally is the example of:

A8 (D) £A5k1 06 4 (C)
Neutral equilibrium Unstable equilibrium

-,T_JL‘PJ;;J::&:;;.E__J’EI 140

26514500 (B) Equilibrium ¢ /51 (A)
Stable equilibrium

141. An example of neutral equilibrium is:

U 28222 (D)
Book on a table

J#dndy4 7 (C)
Pencil at its tip

e JBSE Ay M

Block s (B) Football Ji.: (A)

142. Racing cars are made stable by:

Sotuadedeons g Kb 142

LS8z (D) LIE 547577 (C) LU (B) Sezkr (A)

Decreasing their width anenng their centre of Decreasing their mass Inereasing their speed
gravity

143. Earth's gravitational force of attraction vanishes at: -thfgkvﬁfu -Jf Sk 143

1000 km .km1000 (D) 42300 km ,km42300 (C) infinity <% .4 (B) 6400 km ,km6400 (A)

144. The idea of gravity was first put by: _L;'/u?,?ég:. 4 -J:;jf 144

Einstein /-7 (D) Hooke {(C) Isaac Newton../# w7 (B) Galileo 4 (A)

145. A force which is inversely proportional to the square of
the distance between the centres of bodies is:

JA S8 (D) JASES e (C)
Gravitational force Centripetal force

c::_u,".-"_}’J{jéfifliufiﬁh,dv;:ifwl*'“‘ "JJ"_JJF 145

i;:.:.;_l'f
4 K36 (B)  Frictional force o3 ) (A)
Centrifugal force

146. Value of Gravitational constant ‘G’ is:
6.67 x 102 Nm?kg? (D) 6.67 x 10" Nmi’kg* (6)

-g.-:wf lﬁ.‘.’.&ﬁ ;ﬁ.{j{j 146
6.67 x 107" Nm?kg (B) 6.67 x 10° Nm?kg™ (A)

147. Near the surface of Earth, the gravitationalfield

eS8 LT St M

strength is:
10 Nkg™" (D) 8Nkg™' (€) 6 Nkg™' (B) 5Nkg™ (A)
148. The value of g on Moon's surfaceis 16 ms2 Whatwill €7~ —{1Z100kg, Cé - 1.6msZed (g fd sl 148
be the weight of a 100 kg bodyon, the-surface of the % il i
Moon?
160 N. (D) 100N (C) 16N (B) 10N (A)
149. Formula of mass of Earth.is: U LS K 149
R 3 2 3
- g_z (D) M, = Q;ai? (C) M, QR (B) M, gR (A)

150. The mass of Earth is:
6 x 1024 kg (D) 6 x 102 kg (C)

_i:‘_ L,rLE’C,-lF:.-' .1 50
6x 10" kg (B) 6 x 104 kg (A)

151. The mass of a boy is 40 kg. its weight on Earth will be:

Kkt - A0kgu LS L1151

500 N (D) 400 N (C) 300 N (B) 200N (A)

152. The value of “g" increases with the: 1 ﬁ”:f:-furg 152
None of the above 4 (D) = Jutsat (C) e Ltk (B) b it LA (A)
Decrease in altitude Increases in altitude Increase in mass of the

body
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153. Value of ‘g at sea-levelis ......... than hill: ) f*_d v b L il ed S et 153
Half &7 (D) Equal 2. (C) Greater »L (B) Less ¢ (A)

154, The value of ‘g’ at Moon is: _;‘:_Jﬂ;gufg%ﬁ’d’% 154
1.6 km-1 (D) 1.6 ms-1 (C) 1.6 cms-2 (B) 1.6 ms-2 (A)

155. The value of ‘g’ at Jupiter is: e Jg.8# 155
25.94 ms-2 (D) 10 ms-2 (C) 9.8 ms2 (B) 1.62 ms-2 (A)

156. The value of “g" on the surface of Mars is: 3 T_C;ﬁ =ida, ij’ St 156
10 ms-2 (D) 8.87 ms-2 (C) 1.62 ms-2 (B) 3.73 ms2 (A)

157. The altitude of geostationary orbits in which

- i . : { - -
iﬂﬁsﬂsuf;|nf£¢.fuﬁ;; .:J’!J-ﬁf:ﬁff‘:r;‘ S el $ A 5T

communication satellites are launched above the o g Lt
surface of the Earth is: §one o
42,300 km (D) 6,400 km (C) 1000 km (B) 850 km (A)
158. The orbital speed of a low orbit satellite is: e Qe S S Sapr £ T 158
8000 ms-! (D) 800 ms-! (C) 8 ms-! (B) zero (A)

159. The speed of geostationary satellite with respect to
Earth is:

*?Jﬁ&;ufﬁjiﬁ“dﬁfﬁczeﬁ@i;ﬂ} 159

Less /(D) Zero 3 (C) Same %.¢(B) Double (' (A)

160. The total number of satellites in global positioning I uiff T By £ 160
system Is: ‘

25 (D) 24 (C) 22 (B) 12 (A)

161. The speed of a satellite nearest to the Earth's orbit is: _?JH&; J;_;;'U;:fw_r;_g,,;:iur:; 161

10 kms-1 (D) 8 kms-1 (€) 7 kms-' (B) 6 kms-! (A)

162. The height of a geostationary satellite is about: e dnl Ui § 52 162

38,000 km (D) 10,000km (C) 6,400 km (B) 42,300 km (A)

163. The moon is nearly ......... away from the Earth: B, Ef.f’;ii-w'fiﬁk 163

37,0000 km (D) 37,000 km (C) 3,800 km (B) 3,80,000 km (A)

164. The moon completes its one rotation,around the Earth -{_bf;_}‘{ﬁ.: Ltis S Lytisl 164

in:

31.3 days (D) 29.3 days (C) 27.3 days (B) 25.3 days (A)

165. The centripetal acceleration is inversely proportional to: et v f iy & 51 A JE5 4~ 165

U~k 0D) Radius 4. (C) Velocity s v: (B) Mass .\ (A)

Mass and radius

166. The velocity of geostationary satellites with respect to
Earth is:

15 kmh™! (D) 10 kmh™ (C)

e dna LG S U ke Ay 166

5kmh™ (B) Zero (A)

167. The work done will be zero when the angle between
the force and the distance is:

180° (D) 90° (C)

-< t'ﬁ;:!”{.}'k‘.uE..-L"'GJ}'JH;?QK.!TP-{;J 167

60° (B) 45° (A)

168. If the direction of the force is perpendicular to the
direction of motion of the body, then work done will be:

None of these %" ¥z e (D) Zero 3 (C)

Minimum ¢ St (B)

-?:-:J-:?ﬂ:r“ﬁvﬂ:xufuﬁfuﬁr{:ﬁd’w}/ﬁ 168

Maximum L3¢ (A)
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169. The S| unit of work is:

Pascal J#. (D) Watt - (C)

ey fF AL 169
Joule J# (B) Newton .7 ¢ (A)

170. If the velocity of a body becomes double, then its
kinetic energy will:

<Otk (C)

Become half < Jis.i4 (D)
Become four times

Co STl 5 AT0

o Fed (A)

Become double «Je »t (B)
Remain the same

171. The kinetic energy of a body of mass 2kg is 25J. Its

-Lfﬂ,g;;_;".-_;r-;;_ZSJ M.@Jnﬂr"_{rirnfﬁ AT1

speed is:
50ms-1 (D) 25ms-1 (C) 12.5ms-1 (B) 5ms-1 (A)
172. Kinetic energy is directly proportional to the ......... AN L,Ff L LEBE 7 501 S S "AT2
velocity of a body: F ) s
Four times "¢ (D) Three times .2 (C) Two ties '+ (B) Square & - (A)

173. |If the velocity of a body becomes three times greater,
then kinetic energy will be:

Six times "7 (D) Four times "t (C)

-jﬂp{.ﬂ;!-_ﬁ;'qufu"lﬁi_%ﬁjf@k}bfuf&U}Ur’f)‘o’()ﬁ A73

Nine times 77 (B) Three times 7.2 (A)

174. The work done in lifting a brick of mass 2kg through a
height of 5m above ground will be:

100J (D) 50J (C)

En Ve L A madts e LS./ £2 AT4

10J (B) 2.5 (A)

175. The energy in the stretched bow is:

Sound energy J. kil (D) Heat energy §.1=.: (C)

_;;*_JLla;'/ﬁ.}l;ff Sollnd AT5

Kinetic energyi.it ¥ (B) APy L (A)
Elastic potential energy

176. Hammer raised up has energy:

Heat energy &./1-.; (D) Sound energy &5k (C)

e @A n ek AT6
Kinetic energy J.1—&- 3¢ (B)  Potential energy &%y (A)

177. Which one of the following converts light energy into
electrical energy?

Electric cell J= 2% (D) Photocell .k s (C)

Ffifuﬂhiflué}glﬂ/&fl dﬁﬂu’ligjb;f:ﬁa.uziﬁg;# AT7

T

2 (B) Electric bulb 4/ 4 (A)

Electric generator

178. When a body is lifted through a-height h, the work done
on it appears in the form of its:
SASF (D)
Geothermal energy

Ay (C)
Elastic potential energy

u'f{,,‘";jlu?d;rr_Jijyﬁyi;ufr;{_.t'ﬂﬁ;.fdﬁlzhf 'u’Jfﬁ: 178
...::_. t’ﬁ;:ll; Ur:h"'

Potential energy &1 %y (B)  Kinetic energy &3¢ (A)

179. The energy stored in ceal is;
Nuclear energy J.1.£+ (D). Chemical energy &1 £= (C)

e G A3t KA AT

Kinetic energy &.1_& }¢ (B) Heat energy G/i= (A)

180. The energy stored in dam water is:
Thermal energy .1} # (D)  Kinetic energy §.1—& (¢ (C)

e A 23t L5 180
Potential energy &1 J*<y (B)  Electric energy 1% £ (A)

181. ......... device converts light energy into electrical
energy:

Electric cell J= /4% (D) Photocell k44 (C)

L RGNS G I ... 181

2 (B)
Electric generator

Electric bulb —t—/ 2 (A)

182. In Einstein's mass-energy equation, c is the:

Speed of Earth 4= Jes (D) G (C)
Speed of electron

e b e el G e T 182
Speed of light 4= {5+ (B) © Speed of sound =7 (A)

183. There is a hot molten part, deep in the Earth called:
Plasma 11 (D) Mixture z* (C)

bl bl S8 T L s 183
Magma .= (B) Lava 10 (A)
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184. The source to produce pollution free electricity is:
Radioactivity (s 154, (D) Wind turbine .2 (C)

e 2 S A ey 184
Oil J7 (B) " Coal JY(A)

185. Rate of doing work is called:
Momentum ~<"»+ (D) Power .+, (C)

AL LS S 185
Torque ¢ (B) Energy &1 (A)

186. Power is equal to:

_.T_...f;f.z:ﬂg 186

W/t (D) W2/t (C) W/t (B) Wxt (A)

187. 11; ?"J'E:I_es work is done by a machine in 5 sec, its power -Lfmg Sut- {_J S 21055 1 18T
50 W (D) 25 W (C) 10 W (B) 2W (A)

188. One horse power is equal to: e kL) 188
1100 W (D) 1000 W (C) 746 W (B) 764 W (A)

189. 1 MW is equal to: e 4. 1MW .189
108 W (D) 106 W (C) 104 W (B) 102 W (A)

190. One kilo joule is equal to: e 4121KJ 190
10-3 W (D) 109 W (C) 106W(B) 103 W (A)

191. Molecules are very close in body of: vt vt L35 et J_:rilj:ﬁ,_ 191
Gases (D) Liquid &4 (C) Solid o~#(B) Plasma L (A)

192. The fourth state of matter is: -,.-;__-.Jt;;ﬁ 2wl 192
Plasma i (D) Gases -/ (C) Liquid &t (B) Solid .+ (A)

193. Which of the following substance is the lightest one? e ﬁ eerd 5 193
Lead . (D) Aluminupt =" 41(C) Mercury 3./~ (B) Copper ¢ (A)

194. Mass of unit volume of anybody: e bl ey L7 s 194
Surface { (D) Farce _.¥ (C) Density (5 (B) Area L (A)

195. In SI, the unit of density is: e K5 a1 195
Kgm™ (D) Kgm-2 (C) Kgm™ (B) Kgm™' (A)

196. Density = ...... =07 196
Mass/volume _ri/¢ 21 (D) Weight/mass s/ (C)  Weight/volume ¢is/ 2+ (B) Mass/volume i/« (A)

197. Mercury is denser thanwater:

- JJU{LLELJI/" 197

10.5 times 10,5 (D) 13.6 times 173.6 (C) 12.5 times 1712.5 (B) 10 times ™10 (A)

198. S| unit of pressure is Pascal, which is equal to: e bl L Flesy 2 us e p1i 198
103 Nm2 (D) 102 Nm2 (C) 1 Nm (B) 104 Nm (A)

199. One Pascal is equal to: -ﬁarﬂ_cl,:f_lz._{l 199
12 Nm™ (D) 102 Nm2 (C) 1 Nm (B) 104 Nm2 (A)

200. In SI, the unit of pressure is: ROTL I S A 200
Kgm™ (D) Nm (C) Kak' (B) NmZ (A)

201. What should be the approximate length of a glass tube
to construct a water barometer?

11m (D) 2.5m (C)

":‘.ﬁ.l.g&:f-r i}uﬂjiﬁﬂ.,f;ﬁfé_ﬁi.hﬁmbﬂg 201

Tm (B) 0.5m (A)
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202. At sea level, the atmospheric pressure is about:
1000,130 Pa (D) 103,100 Pa (C)

ety s el 202
110,300 Pa (B) 101,300 Pa (A)

203. ......... works on Pascal's law:
Wedge &+ (D) Hydraulic press = ;4. (C)

et/ L., 203
Vernier calipers ,;H 7~ (B) Screw gauge ge.5 (A)

204, Hydraulic press works on:
Hooke's law w#¢_( (D) s Z s (C)

Archimedes principle

...iL.t'/rE/J_,ri..-;JijE- 204

Pascal’s law ;s £ F L(B) Newton's law ;o6 Z o7« (A)

205. The density of a substance can be found with the help
of:

= udwit L 450 (C)

Archimedes principle

= 34 L}fpl!*’l L -i-f {D]
Principle of floatation

4.[5%0}4’”““"'15&;&{#205

=y .'_}H.;JJ;E' Z{(B)
Hooke's law

= ur'u,l'fi.r' L {_.F"E {ﬁt:l
Pascal's law

206. According to Archimedes Principle, upthrust is equal to:

FEW s D) alnLiilnives(C)
none of these mass of displaced liquid

- dﬂﬂ.{uﬁ; JL,Ibfl JW& Jr"’fa:': J{.-;‘iif 206

Ml e Lol nioer(B) sl sl Cllnibos(A)
volume of displaced liquid weight of displaced liquid

207. The Upthrust force of a liquid is equal to:
PgA (D) pgh (C)

-{-:iﬂ::u:u”s;* JU@;#,-_;‘EL 207
paV-(B) pgv (A)

208. If ‘w’ is the weight of the body and ‘F’ is the upthrust of
liquid, then the body will float if:

Both B and C l,_..l,!.'JJCJﬂB {D] W=FW=F {C}

Zﬁ;:'_ t‘fuﬂ[_}}ff‘;*;ﬁ'f:tu’;:i u;Jbzg,’iufﬁLul’wl s 7 L:’J;ﬁ 208

W<.F W<F (B) W > F W>F (A)

209. According to Hooke's law:
Stress = strain .~ = ~ (D) o AR F=aidf (C)
Strain / stress = constant

o £ 6 £ 209

U Xy pEe (A)
Stress x strain = constant

F o =21 (B)
Stress/strain = constant

210. The ratio between stress and tensile strain s;
Shear modulus s+ /(D) Young's modulus s+ -%(C)

eI ePuen Ly p Fni e 200

Bulk modulus ' s5» i (B) Uk (A)

Elastic modulus |

211. Stress/Strain =..........
Hooke's law w#¢¢_( (D) J#ik 4 (C)
Archimédes” Principle

Z el ple 7 211

Newton's law ¢/56¥./« (B) Pascal’s law 56 ¢.5 (A)

212. Sl unit of sfress is:

e ¥R 22

Nm (D) Ns (C) N _(8) N (a)

213. Stress is equal to: -ﬂ;.;:l,.f:;ﬁ 213
area length area orce

length (D) area ©) force (B) area (A

214. Alarge water reserviour keeps the temperature of
nearby land moderate due to:

-{.E’&Jﬁ#;.;;sﬁ ...... /g-/;ifjwﬁﬁfulaf,ilj{ﬂ}& 214

&-.:-‘!ufﬂf‘;; w7 dﬁiur»;,}g {D:] ;_g:ufflj'fl ...':ul,.-?rf{C} ngur.ﬂr"?.:;,«lffuﬁk (E} r;._a-:u'ié,;;frig}i {H)
large specific heat of water less absorption of heat low specific heat of water low temperature of water
215.In......... state of matter, molecules do not leave their Lo SE LGS Jol 215

position.
Plasmats (D) Gas < (C) Liquid &t (B) Solid o+ (A)

216. Metals are good conductor of heat due to the:

v el § 7L (D) AL (C)
Rapid vibration of their Small size of their molecules
molecules.

LA e o i 1S 7 K2 216

A870 L1 (B)  Free Electrons 54417 (A)
Big size of their molecules
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217, ... of crocus is natural thermometer: e K BB K S 2T

Root (D) Stem ¢ (C) Seed & (B) Flower U (A)

218. Water freezes at: Oy, 4:/.,-‘ J ._}L 218

0°K (D) 273°K (€) 32°F (B) 0°F (A)

219. Normal human body temperature is: -y A6 e o5 Lok 219

98.6° C (D) 37°F (C) 37°C (B) 15" C (A)

220. ﬁdercury is used as thermometric material because it e e te S b S S v 246, 220
as:

S Felazf(C) 2413823 (B) i1t 37 UL (A)

All the above properties Small heat capacity

Low freezing point  Uniform thermal expansion

221. Boiling point of water is:

e ey Byl 221

100 K (D) 273 C (C) 100° C (B) 0°C (A)

222. Temperature of ice in freezer is: £ ,5;,;‘ Kb by 222

-28° C (D) -18° C (C) 8°C (B) 0°C (A)

223. Complete the equation: T(K)= ... N . =T(K)- :ff..-A:L» 223

273 -F (D) 273+ F (C) 278 +C\(B) 273+ C (A)

224, Absolute zero is equal to: -%-rfilii{jﬁkfjf?ﬂ;r 224

-273° C (D) 100° C (C) 100K (B) 0° C (A)

225. Fn Celsius scale, 50° C is equal on Fahrenheit scale s fit C°5U.-;ukc ST 205

0:

90° F (D) 122° F (C) 102° F (B) 100° F (A)

226. Eu"hi::‘.?h of the following materials has large specific %—Jbﬁffy =7 H,L,-Fuﬁ/f’:lru«'f 226
eat’

Mercury ¢/~ (D) Waterd (C) lce i, (B) Copper .5 (A)

227. Unit of specific heat capacity in Sl system 1s: -:;:.:J{E’JJ??JJJ! S uiu"'ﬁ'f ;-?I(l'/ 227

Jkg°K? (D) JkgK (C) J'kg'K” (B) kg 'K (@A)

228. Specific heat of iron is:

903.0 Jkg K" (D) 470.0 Jkg K (C)

isi:..ﬂﬁasifdf;.:[ 228

920.0 Jkg 'K (B) 387.0 kg K (A)

229. The specific heat of wateris:
1760 Jkg 'K (D) 2500 Jkg 'K ()

iﬂ;_.-ﬂ:ﬁ:.p.aifurf.;jﬂé 229
4200 Jkq K (B) 800 Jkq K (A)

230. Latent heat of fusion of 1 kg of ice at 0° C is:
336 x10° Jkg ' (D) 3.36x10° Jkg " (C)

_fﬂ.;.,s;&"'u’?pfd’_i,flﬂfﬁ1 ,;/‘_*ﬁ’.,,;‘éUDC 230
3.36x10° kg (B) 336 x10° Jkg ' (A)

231. Which of the following affects evaporation?

All of the above ¥ (D) Wind 1+ (C)

Cet S ool e iyt 231

La¥s SE(B)

Temperature £ (A)
Surface area of the liquid

232. Which of the following materials has large value of
temperature coefficient of linear expansion?

Steel £ (D) Brass > (C)

domlied @V s db Lt 20 e St it 232

fe

Gold 4+ (B) Aluminum 2541 (A)

233. What will be the value of B.fora salid for which has @
value of 2 x 10~ K™'?

8 x 10°K" (D) 8x 10K (C)

LXK Eu T L Qs LE s ¥ L1 233
el @ L fedn L

6x10° K" (B) 2x10° K" (A)
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234. Which gas is used in spite of Freon gas in refrigerator?

e QeI s L) A 234

N, (D) NH; (C) H, (B) CO, (A)

235. The way by which transfer of heat takes place are: pE P L7 235
Four . (D) Three ¢ (C) Two + (B) One {1 (A)

236. In solids, heat is transferred by: e Iy jbjﬁﬁ_lulf_'rL_;?Ju"ﬂ% 236
Absorption 7.1z (D) Convection o*¢+(C) Conduction o* % (B) Radiation ¢*14. (A)

237. Metals are good conductors of heat due to the:

# A4 Z i (D) AL (C)
Rapid vibrations of their Small size of their molecules
atoms

e b ﬁ}/‘”/_iﬂfél Lok 237

A87 L (B)  Free electrons ws 24107 (A)
Big size of their molecules

238. False ceiling is done to:

/e =g (D) Cool the room /145 /(C)
Insulate the ceiling

I{_I:’fc'..uf-;‘ ﬁ_ﬂ:ﬁg’g}uil&f‘” 238
o/ s =7 (B) Sl =g (A)
Keep the roof clean  Lower the height of ceiling

239. What happens to the thermal conductivity of a wall if its
thickness is doubled?

< dbx3E7 L0 (D)

: becomes half < e &7 (C)
becomes one fourth

].l"'lv.lg,.-l"|I

G FENES T e Ly 239

= JJI; vl {A}l

remains the same < .ss(B) :
becomes double

240. Unit of rate of thermal energy is:

e KU ASEAS #2240

Second per joule Jz 3 .4€ (D) Joule Jz (C) Joule per second. :£3.)» (B) Kelvin o (A)
241. The unit of rate of conduction of thermal energy is: PR 14 PR ASTR ]
JKT (D) K (C) J (B) JsT (A)

242. Thermal conductivity of silver is:

430 Wm K" (D) 400 WmK14e)

e G S 282

105 Wm K" (B) 245 Wm 'K (A)

243, Thermal conductivity of rubberis ......... Wm K™
0.59 Wm' K" (D) 0.2 WmK:" ()

L]
-

-< h:‘;:f j'-ru'f L{.fﬁ.f 243

1.7 Wm 'K (B) 0.08 Wm KT (A)

244, The thermal conductivity of a dry air i§ . . .. Wm KT
0.026 Wm K" (D) 0.02'Wm 'K (C)

e G s 244

003 Wm 'K (B) 0.08 Wm K1 (A)

245. Thermal conductivity of brick’ls:

1.7 Wm K" (D) 0.8 Wm 'K (C)

YW

- g A .-_J'/;'l,'::-l:.l 245

0.2 Wm'K! (B) 0.6 Wm'K" (A)

246. The unit of thermal-eonductivityis:

Wm2K-., (D) WmK-! (C)

e KGNS 246

Wm-1K-! (B) WmK (A)

247. Thermal conductivity of ice is:

G A, AT

2 Wm 'K (D) 1.7 WmK* (C) 0.9Wm'K" (B) 1.8 Wm'K" (A)

248. Which of the following is a bad conductor? e ;fjﬂ’ﬁ (od e a5 o 248
None of these . /(D) Iron ¢ (C) Wood 2 (B) Gold ¢+ (A)

249. Example of a bad conductor is: -{_,-_th‘u“ ,.?;flf’; ¢ .249
Graphite =2/ (D) Wool w» (C) Iron  (B) Gold ¢t (A)

250. In gases, heat is mostly transferred by: e b7 Yl 250
Absorption <+ (D) Convection ;=134 (C) 4467 £ (B) Conduction o* 2" (A)

Molecular collision
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251. Convection is the process of transfer of heat due to
the:

o 2T § 720 (D) G rbdnd 7L (C)
Free movement of Upward movement of
molecules molecules

~C K il 7 B0 {_J}::.ﬁrf 251

Frte 872 (B) Fr ASE(A)
Downward movement of Random motion of
molecules molecules

252. Rooms are heated using gas heaters by:

Convection only o*+"(D) Radiation only o*i$4. (C)

gLl e Je LR 252

FIE ks (B) Conduction only o (A)
Convection and radiation

253. Reason of glider to remain in air is:

...;...:.;FE/.':.:_JLﬂI'E J..J:if" 29

Convection o*¢+(D) Radiation ¢*i$4. (C) Conduction o* % (B) _Power .. (A)
254, Land breeze and sea breeze are the result of: - -.’-"?*'/ --------- Jﬁﬁf -”'LF-*'-F 254
Absorption %1 (D) Radiation o*154. (C) Convection o4+ (B) Conduction o (A)

255. Which of the following is a good radiator of heat? ‘e fh G s ol didizim 255
CJLf-L1(D)  Awhite surface £ -5 (C) C oGt (B) C AL (A)
A green colored surface A dull black surface A shining silvered surface

256. The major source of energy is: Q RV 256 |
Sun ¢ (D) Nuclear fuels 7+ 2y (C) Earth.2. (B) Moon s¢ (A)
257. A Leslie’s cube has faces: _idn? e $7 257
Eight 7 (D) Six £ (C) Four . (B) Two s (A)

258. Which colour is a good absorber? Ce ol _ip\f1 Fi-yf 258
Colored o, (D) Shiny .. (C) Black s.- (B) White .- (A)

259. Warm clothes for winter season are: efitl e LU 259
Cotton »7¢'(D) Plastic'tu(C) Silky 4 (B) Woolen (s (A)

260. Global warming is due to a gas: i.f‘;.J:f:ﬂ;sd.-_ff ........ e JF 260
Chlorine 7.+ (D) s kK (C) AT 358 (B) Oxygen = T (A)

Carbon monoxide

Carbon dioxide
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1. Write short answers of the following
questions.

-/ /. .;; =2 /‘? Z.:-rljlfg_b IR

Define physical quantities and derives quantities. Y ;Uc-?. A Ush i JJ’ 1
Define base and derived quantities. SIS AN 2
What is meant by base units? Give two examples. e S e eyl 3
Write the names of four derived units. *Jfﬁ Al A 4
Define derived units and write two examples. #u«,,u:fmwuf‘j_aﬁd’fﬁﬂ 5
Define base and derived units. TSy A A 6
Which base quantities have units Mole and Kelvin? S L U Ea e s T
What is meant by prefixes? Give an example. ey S A Jr‘d . .8
Define prefixes and write two examples. R e J-/fgj; 9
What is meant by scientific notation? What is its rule? OB Ve HI B A0
Explain with example. \ v i
Write in standard form 3,84,000,000 m and 0.00045 s. 0.00045s 4 3,84,{100,0Uﬂmiu'fﬁunriﬁhi? 11
Express in scientific notation: 0.00580km, 210g. 210g. k000580 ¢ i g 12
You are fifteen years old. Estimate your age in seconds. o fﬂ_ﬂ RE N e i FST 13
What is the least count of the meter rod? Ce Vb2 14
What is meant by the least count of a measuring Cesl p e et LT § e A5
instrument? o -
Define zero error and zero correction. sl U P imigrg 16
What is meant by vernier constant? el pl e 7 AT
Differentiate between Positive zero error and negative zero sl U e splsg] 2K sk 18
error. R
Define pitch of screw gauge. Ce ol ;LIL@J@Z% 19
When the zero error of a screw gauge will be pr:nsitive? S by sl ;.vrzf W20
Why a screw gauge measures more ‘accurately than vemier Ce brud Pl & ;::;,,,Iu{ v 91
calipers? - | o )
What is a physical balance? Ce VS 22
Differentiate between<€leetronic balance and phsical R g a6 23
balance. |
Differentiate between a mechanical stop watch and digital IS b;:&..,__,g.,ﬁ;ﬂrﬁ 24
stop watch. ) )
Define measuring cylinder and write its uses. g S P 25
Write the method of measuring volume of an irregular _ufﬁ_;,/bﬁﬁj;,iw;}gl,gﬁuf,;?uﬁmgdi 26
shaped solid. ) - '
How can you determine volume of an irreqular shaped S o J,,g,}gr).ur,;;, w66 e Je= J_J;_-J,__"*"k; T 97
object using a measuring cylinder? S - o

e
Write two rules to find the significant digits in a il i Sk e et P 28
measurement. | | ]
What we shall obtain to round of the last digit (5) from .35 | 4 ac_ v oo o /st anndB, eiTe s Lo s 29
and 1.457 | | 1 :15
What is meant by kinematics? NSRS u-f-f’ g¥ .30
5What is translatory motion and linear motion? TS S F B E s P 3
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Define circular motion and give example. ey S FEF e e 32
Define random motion. Give example. Gl S ﬁu";;frr;g; 33
Differentiate between rotatory and vibratory motion. SSGPAT S EA TS K 34
Define and explain vibratory motion with example. B :J,.-'f:__:,u.}_,.e__dﬁ_‘_mQI_E}JQ'E;*LL&;{I; 35
Give two differences between rotator and random motion. SN ST TS K 36
Define motion and write types of motion. _uf‘r|,¢ Zeviduimg /s 78S 37
Differentiate between linear and random motion. - :fj}uﬂwﬁ'rrizmr =4 .38
Define linear and translatory motion. _h{)’_@j’uf’uﬁ,ﬁﬁuuj_,,lf,ﬁ;fd 39
Define vibratory motion and give example. ey S SIS EA A0
Define scalars. Give their example. L deag S F A A
Define vectors. Give their examples. By Sy S A 42
What is meant by position? Explain. _J“;;,:L&”;IJH;_Q/;J;EJ;; 43
Dg{ige speed. Write its mathematical formula. What is its SI | ¢ ey S 2 (*-/gu,-,#ufﬁ' ur b Ry S P S e 44
B[;fiﬁe uniform speed and non-uniform speed. (Variable I W o1 o frpdzy 45
speed).
grﬂ:ﬁ;ﬁelnciw. Write its mathematical formula. What is its KIS A rx"—”_ufj I Qi S S us 46
Y

Define average velocity and write its formula. du:‘"f Ut BE N L5 U ;,,iﬂ 47
Define non-uniform (variable) speed. el E—;’(U}I‘:FL;{!)|‘JL’E’{£L‘JE 48
Define terminal velocity. SIS E S 49
Differentiate between speed and velocity. SIS S sk B0
What is meant by uniform velocity? sl plfe iy 51
Write the use of lidar gun. Lo i 52
Dg{ine acceleration. Write its mathematicalformulaand’SI | . U ﬁ'ﬁfr‘*"“&-’h f“/ U B Sy S Jvs 53
unit.

fe S
What is retardation? Ce UH5l, 54
Define uniform acceleration, Ry Ju:"% }grlf,.rufg 55
Define uniform accelerationand,give its any example. e LUy Sy A ,L«E}I,-,,Laf ;56
Write equations of motien f0r uniformly accelerated motion. S LS Frd L ,,Lf,lwf s 57
Convert 1 kmh-T speed of a body into ms-. St ms et kmht ufr")af 58
Convert 72 kmh-1 speed of a body into ms-". S ms-1 Sk ?zkmh-“'u"'lf-’f 59
Convert 36 kmh-' speed of a body into ms-1. et ms Ly 36 kmh"u"(ﬁ‘f 60
Convert 20 ms-speed into kmh-1. AL ot kmht 20 mst 61
Define gravitational acceleration and write its value. _u-fg #gb(J;jjlq J oy FEH o1 \.ﬁfﬁ J 82
Define dynamics. JS /-'J'thfli 63
Define force. S Sus 64
D_efim:a mnmgntgm. Wﬂ'tﬁ its mathematical formula. Give its (’"b’uu,-l L) Jurj_u-fﬂ UFJEL_;,LJEJJU,.ULI Zu A ' B5
direction. Write its Sl unit. 1 rfg#{ S
Define Inertia. Explain with example. Sl e Je g S A 66
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Differentiate between a force and inertia. SIS BT
State Newton's second law of motion. S P DAL
State Newton's first law of motion. IS e S E Y 69
Prove that: F = ma F=ma.y/ =t .70
Define unit of force. ISP RASTISY A &
Differentiate between mass and weight. ISP St T2
1State and explain Newton's third law of motion. ISl Uil S S Ry T3
What is meant by action and reaction force? s e TS Sm T4
Explain the action and reaction forces in case of rocket TS el b S el e, 75
motion, i
How much force is needed to prevent a body of mass 10 kg S kb F L L L e i S S LIZ10kg 76
from falling? i )
What is meant by an isolated system? sl pU e AT TT
Define force in terms of momentum. Also write its I U 50 o S ;ﬁu?*':‘ vSTud T8
mathematical formula. LN\
Define force of friction. I FSF T 19
Define force and friction. LS PSS I 80
Define friction. Write the value of co efficient of friction e B M T Ly S 78 81
between tyre and road. ) — R

-L_,.'H-
What is meant by co efficient of friction? Write its _ﬂ U QU Sy P S edd FLF 82
mathematical formula. ' - )
Differentiate between sliding friction and rolling friction. TS S B S 83
Write down two advantages of friction. il 84
Write down two disadvantages of friction. _uff =tdnl 85
Define centripetal force. Write its mathematical formufa: I K S TS SES 86
What is meant by centrifugal force? Write itsequation. e QK S P S s s 87
Define parallel forces. Write the names of its types. TS }d’;,-”iuﬂl ~ .88
Define like and unlike parallel forces. . TS PSS a s Fy 89
What is head to tail rule of vectoraddition? Explain with Il JEte U s L84, 90
example. ) L )
How a vector is represented.graphically? et SO
What is meant by rectangular components? e sl ,u'}_,ﬂ}'ﬂdﬂf 92
What is meant by resolution of forces? S sl e AT ey, 93
In a right angled triangle length of base is 4cm and its em 3L Zrtsiom 400 Sosb Ut eds_aA276 094
perpendicular is 3cm. find length of hypotenuse. ' ' P )

NPT Py

Define a rigid body. IS A e, 95
Define axis of rotation of a body. JSw Jﬁ,,-J ,«Jfr.g:() ,-jf .96
Define moment arm. Sl S ey 97
Differentiate between axis of rotation and moment arm. TSRS o FE T 98
Differentiate between moment arm-and line of action of a BN LTS SEIST bl f ey 99
force. ) | |
On doubling the mement arm, find.its effect on the value of WS s IR e AU T e 100
torque. o ' |
What is meant by principle of moments? Ce LUK 101
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What is meant by plumb line?

T,;:'_ :[f“lf&.ufﬂfj; 102

What is meant by a couple?

?r.;_:-;y’l.-;.d;fJDB

What is equilibrium? Give two examples.

_U:Jdﬁ"ﬂ P‘f-_kl"r.‘:/JJ,g[ 104

State the second condition of equilibrium. Write its
mathematical formula.

U B b 28 ol A 105

Define unstable equilibrium. Give example.

Sy PSS LG 106

Define neutral equilibrium. Give example.

LA PSE sk 07

Define law of gravitation.

IS eSS S 108

What is gravitational constant? Write its value.

- L e et
e e d Ut et R sy S 109

Give the value and unit of ‘G’ in gravitational constant.

_ufﬁ;;; et G _mfrjfffdgf 110

Why we cannot feel the force of gravitation around us?

“é[ 'fu"r'; .;_,J;*:.rirfJu; f’fdgf;,fm;%.Jrﬂ 211

What is meant by gravitational field?

Sl e WSS 112

What is the relation between law of Gravitational and
Newton’s third of motion?

“le - -_ - a Ty . &k =
(e P S AL L emyds L+ $y/ 113

Write down the formula to find the mass of Earth.

Lo s 114

Write the formula to find the mass of earth and write the
mass of Earth.

I T e S e Kt 115

What is the numerical value of g at Sun and Mars?

e Vil g U SGrmer 116

Why does the value of “g” minimum at the top of
mountains?

S Quusl fed g L8 addusily 117

GM,
RZ

195.If R is doubled, then what will be change in g =

GM,
HE

Wy Ot g = STl U R 1 118

What Is meant by a satellite?

?‘;;yy”;..:::w:' 119

State the difference between natural and artificial satellite.

SIS e § 5 343 120

What is Global Positioning System? What Is its use?

ﬂ_,;jfuwv?m’w?%kﬁf‘“ﬁé;;u'!:f,121

Give two uses of artificial satellites.

I et Loz § e 122

What is a satellite and geostationary satellite”

SIS S 2 e s 123

What is a communication satellite? Write down its height
from the surface of earth.

iﬂagufdﬁjzufu’f.:.;ﬂj?{_g&fﬂ:fu%nf,124

What is the height of geostationary satellite from the
surface of Earth?

te dnsitd = O futideiuns s 125

Write the formula of orbital'speed of artificial satellite.

U i ke S T St § 5o 126

Define work and joule;

A PSS 127

What is the difference between work and energy?

?;:-_J)E"Lrj&ju;r._ﬁ'}; 128

Define types of mechanical energy.

AL nden sl 129

Define kinetic energy and write its mathematical formula.

i,-_fﬁ u:-—-;L;.-_}L:EUIL,rj 7 SEA _@-JK 130

Define potential energy and write its equation.

ﬂ-,;:"g U B sl S ,;u"dﬂf‘ij; 131

Write equation of kinetic and potential energy.

_l_,f’g S PNay, f‘fjgm & _L’ld §.132

What do you mean by mechanical energy? Give some
examples.

>
#L,:;udl:’:*;g?f_;rfy’; L,Z-..;N,E":L 133

How mechanical energy changes into heat energy?

StV U LAY S A S 134

What is sound energy? Give examples.

S G A5 135

Define chemical energy.

U LG 136

Which energy converts into muscular energy?

te (P Eas st gL 137
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Differentiate between mechanical energy and chemical
energy.

SO EN A

138

Describe the difference between electrical energy and light SISO G el A 139
energy. o ) |
What do you mean by nuclear energy? sl ol e S5 2 140

Describe the use of light energy.

- - f D a
...p;_,.-:;’ L;_IE:;_,!EWIE/LE*!F.L:TU

141

What is soil erosion?

P
?.fl_*_:lt,r"l_.-'/r;'_sli 5,

142

Write down the two disadvantages of fossil fuels.

_ufﬁ.-’_;li vl ;'EJ’,’

143

What is meant by non-renewable sources of energy? Give
their examples.

-;_,-:;.;_;':JL'.:':J ?'.i'ﬂfg'f- f,-uié__.:_:? ul: FEZ: J-,;I

144

What do you mean by nuclear fuels? How energy is
produced form nuclear fuels?

“.f'_JI.pJL:éJ;I'f_ .J'ijﬁbl{?.:“_.ﬂf_ufr'_)ff:{r:

145

Define fission reaction.

S PSS 146
What is solar cell? ?i,:_gvt),.. 147
What is the second name of solar cell and how it is made? ?‘Lf?kfﬂ#f:?f-:-k’fr'“'ﬂﬁufﬁf 148
192.0n what parts a heating system consists of? Ceff ﬂb_L'-?i" LU wfr:—-/ G 149
Write the uses of wind energy. _ua_vﬁ_:_,m;:a. Z Gk 150

What is meant by geothermal energy?

et e SN P2

151

What is meant by energy from biomass?

?.;_Jlfyfx;i_fffbﬁflc'_JLfl:

152

Write Mass- Energy equation. Also write the value of speed
of light.

ifgﬁgé*uférdlﬁﬁ:J-uﬁalsbﬂﬁ}[g’LJfUﬂJT

153

What is meant by power? Write its formula.

..ufgﬂr‘JEguq?.#LJ!foLﬂ&

154

Write the properties of kinetic molecular model of matter. _uf“g;,ur?ngiLx'g.ﬁ'L_ﬁl'Js’ia:L 199
What is meant by plasma state of matter? g. “ sl o ,»_;Ju;ﬁ;[,gu’m 156
Write two differences between solid and gas. St e S U s BT
Describe some properties of plasma. S eter® i S 158

The mass of 200 cm? of a stone is 500 g. Find its density.

S 58 U1 500g U1K L1200 cmd

159

What is the S| unit of pressure? Definet.

LS St e Bt AT

160

What is atmospheric pressure?

e e Sy A

161

Why the air becomes thinperand thinper as we go up?

?-‘:—-L-;Lff Sdwus ;&ﬂﬂﬂ_%_} Ve ,_5"}_;;1_(:,;15,,_?

162

What changes area expeeted in weather if the barometer
reading shows sudden decrease?

?JT—JJLEIEJUK:JUEJJ’JZL/”JH --ﬂg-‘u“-:-fésdfffiﬁ

163

What is meant by mercury barometer?

?r‘;.:ify’.:_ﬁtﬂd'ﬁ:’

164

Write down the names of some devices which work on the

nie | -LHE.;(K.;;J;‘G'i;ﬁ'kﬁufﬂr'ti)'j'ﬁui’% 165
principle of Pascal's law. ‘
What is principle of floatation? Sk ¥ 7 166
On what principle, ships and submarines float on surface of Cu St fédk 2E L v AT iz 5 167
water and why?
A wooden block floats on water. Why? U e b 2 A=K S 168
Define deforming force. ISy S 169
Define strain and write its formula. _Lf’j U 68l S P S 2 170
Define stress and write its S unit. _Jf“_:;; Sl Sy 282~ AT
What is difference between stress and strain? Ce O Ry s T2
State Hook's law. T K 173
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What is meant by elastic limit?

?»;;'.Jlfg:.-.‘.uibﬁilk,f 74

What is meant by Young's Modulus?

?i:_.,‘”j'_l.;fﬂ- u"'ljif'}fg- A79

Why is heat called as the energy in transit?

fe bl Lﬁfuﬁ/ﬁfljﬁg};ﬁf;ﬂf 176

What is thermal equilibrium?

Ce U Ak F ATT

Differentiate between heat and internal energy.

S SCAS Flsee. T8

What do you mean by lower and upper fixed points?

Cesl o e e E1y 4B 1 79 ATY

Write two scales of temperature.

LA L g 180

Define Fahrenheit scale of temperature.

S PESE AL g4 18

What do you know about Kelvin scale of temperature?

b TS AL JE UK L 5 182

Define Fahrenheit scale and Kelvin scale.

Iy PESE g S sk 183

Write the formula of conversions form Celsius to Kelvin
scale.

ikl Cd e pIE oK = S 184

What is absolute zero?

?;__LJ/:..;.J.:*..-:‘J:-*.,{J 185

What is a clinical thermometer and its range?

ol G St v 25 186

Convert 100° F into the temperature on Celsius scale.

gl AIE =S 5 #100°F 187

Convert 50° C on Celsius scale into Fahrenheit
temperature scale.

gL S E B £4£50°C 188

Define specific heat.

Sy S e =7 189

Temperature of water in a beaker is 50°C. What is its value in
Fahrenheit scale?

o g U e ke 50°C £ £ 63zt £ 190

Normal human body temperature is 98.6°F. Convert it into
Celsius scale and Kelvin scale.

P 2 e b 98.6F £ 2 Ak U 191
ey

What will be the temperature on Kelvin scale of temperature
when itis 20° C on Celsius scale?

5200 C £ 5 S 5 a8l £ L S0 192

Change 300 K on Kelvin scale into Celsius scale of temperaiure.

S EIE S £ 300K, o 193

Define heat capacity. Write its mathematical formuia.

o s K-S AP A7 194

Differentiate between freezing and melting point.

SO Sy Bx By} 195

What are the factors on which the evaporation-of a liquid
depends?

Sty NS ALK g ez L 196

What is the effect of temperature on.evaporation?

et KA ey 197

How nature of the liquid.affects the-rate of evaporation?

Ce b LU FU S g e ST 198

Give two uses of cooling.effects by evaporation.

S e L I s L St 199

How evaporation differs from vaporization?

" ST -
‘;.',:'_.._.EL-;E,_/!’,;__,"J — *'ﬁ.:“";,l;-‘-!f;p"i;.!f,:" 200

Define vaporization.

. “ff_,lg
“JAE A0 Zligzs 201

What is meant by evaporation?

‘e :I/f_l,_,f;.;f"'}*;%ﬂ 202

Why rate of evaporation increases by increasing the
surface area of the liquid?

teQbsal UL }JJ%%:;:F;.LLW:—;;J’ K21 203

How wind increases the rate of evaporation?

te QoA A s 204

What is meant by anomalous expansion of water?

sl oW St o 3L 205

Define co-efficient of volume thermal expansion.

-uff_if;dfﬁpéjf;ﬂiﬂ;{ﬂﬂf Jarshs 206

Why gaps are left in railway track?

bl U B Uy sty 207

Write two uses of bimetallic strip.

-L):JG'.JLIL“}UJE-LS;EJLPMJ 208

Write any two applications of thermal expansion.

G e 3 L5 37 209
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What do you mean by transfer of heat?

Cest ez 71 210

Write the names of methods of transfer of heat.

LR P Lenr S 201

What is meant by conduction of heat?

iy
?;__f'_;lfy';.u’iﬂ uf:eilf 212

Define the rate of flow of heat.

tesl e U S L7 213

Define rate of flow of heat. Write its mathematical formula.

-uidgﬂf;ﬁﬁlﬂl?::_ ;IIE-H,;.L;: L,':?L;‘ =i 214

Define thermal conductivity. What is its mathematical
formula?

U K 1 e (S F 215

How does cross sectional area of a solid affect thermal
conductivity?

Ce b G BT L #2216

Write any two factors of rate of flow of heat.

AL Nndniwnidi gl p L enr 20T

What is the effect of length of the solid on thermal
conductivity?

FLtFI'L‘Id!’JﬁJ F,EKQLJ.I;Q: ¥ 218

Differentiate between conductors and non conductors.

e AU A s U 219

Give some uses of conductors.

e L 220

Mention two uses of non conductor.

T e L A 221

Define convection. LS PSS 222
Differentiate between land breeze and sea breeze? LIS ﬁﬂijmd ,,;lfs:J 223
Write two uses of convection. _ufg:.,llle;"lni 204
Write down two uses of convection currents. e LSS 205

What causes a glider to remain in air?

?'-’,'—‘-.':"".I{r,ﬁ/‘-i;-fui | ﬁz.sjflf 226

What is meant by land breeze?

?;:_ JlfLr'f;.Q'f"-rvj 227

Write names of any two birds who are expert thermal
climbers.

il

- If‘t:.u},ﬂ:.«;.xlr ;"L! 228

Define radiation.

S S 229

Name the factors on which the rate of radiation depends
upon.

- b (m & 5
- E’-J_.;.ff;*,!' i‘fﬂ{}"%'dﬁiﬁu:fﬁujbuhfﬂ 230

What is the effect of surface area on the rate of radiation?

Ce b U FEHISAKEG 231

What is a Leslie's cube? Write its foursurfaces.

L o S L8 232

Mention the use of Leslie’s cube:

ekl d ) 233

Why is not advisable to wear dark celoured in summer?

e tbl iU e e AL e St/ 234

Why bottoms of cookina.pots are made black?

P b Ul KU 1Ll gL 235

Write two consequences.of radiation.

2 A £ Hidh, 236

284.Why we wear white or light coloured clothes in
summer?

C Ut AL B L e m st ) 23T

What is thermos flask?

T;:'__‘l.frf-.-filﬁu"f‘a,ﬁ? 238

Write uses of Styrofoam.

?c:_,L_fr'.aLirfl.& 239

Long Questions

Q1. Write detailed answers of the following
questions.

L1 F Ml Lt S5 psnr

Explain translatory motion and give examples of various types of

translatory motion.

e l_,r'm_,fL.m_zL; (F il 21

Define scalar and vector quantities. Give two examples of each.

| - Lomr - -
S S ..Q;_ij_.y,»’juuufﬁ sl A
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Derive equations of motion.

e . o R
-SRI g

Define momentum. Write its mathematical formula. What is its S|
unit?

te IS B o U QKU S i P

State and explain Newton’s first law of motion. Why Newton's
first law of motion is also called the law of inertia?

S trib Usd I ELE A6 g7 6 S I b 6

State Newton's second law of motion. Derive its mathematical
formula. How you can define Newton (N) using second law of
motion?

e el L_-,Ff_u:f.a.l UL E"-,_,-*Ll_,r-jfl;,'lf_uﬁﬁ If::E“;rirE”;f:j

H_.r"l

V.- P

State the law of conservation of momentum. Explain with
examples.

_u;f:.ﬁ L:uurl_fl.’.—_t_,lzlﬁ-q[fgg;!ﬁﬁ E";E,-,-;Pfi =

What do you mean by force of limiting friction? Derive its
mathematical formula. Define coefficient of friction of this relation.

T . . . e & Fooad e H
.:-f-.‘:'l_tijlf_.l_&";bu"i_.bif ﬂiUF;thgvfI?LJny e Ak T S

SAw S T

Write down advantages and disadvantages of friction.

. Fim a7 .
_,-_)'fd..wl.'l...eﬂ.rglé-,t b/

Describe the methods to reduce friction.

GINESEL S

mU’E

Define centripetal force and prove that: . =
Q2. Write detailed answers of the following

J".I"L'i.-i'2

S S et oy P SRS

S 1 F MR Loy 5 psu0

questions.

State and explain resolution of forces in its rectangular
components.

P * F =+ ke ¥
-g,,_{;r..".-?l.é:.a'.!‘—é‘}’ B~ A ,_;,f‘;f;;f_,,,-_,ig“'f;;rd::f

What do you mean by torque or moment of force? On what
factors it depends upon?

4 - |#- - T ; -~
'i.»;__t‘;:_,_-:_ J"-'#;f ;L-afrﬁ'ufi?;‘__ﬂ;g;_@:’.__n O

State and explain principle of moments.

.-" I_-' L
- :..-"r::.J s g U1l LA ke el

Define centre of Gravity. What is its importance?

I',r r 5 'r I j L
sy Sy G ST

Find the centre of gravity of an irregular shaped thin lamina with
the help of plumb line.

_u:frf*:l”i{:ff_ﬁf:"F&é%ifﬂﬁﬁ%%ﬂ;).ﬁJ.,;FU.._«J;

What is a couple? Derive its mathematical relation.

PN
g kg S AUk

Define equilibrium and explain its different states.

_;_,:f ol ufulﬂb_i@ II“f[:'_frfr M S 3 /-;" U['r-f Ak

Define equilibrium and explain its conditions.

- A & - -
- :,.«-'F.:.-:*L.}:d E"F/,-"L}Hrl'.r}.|.;_,:_.r‘r:_-:=;1f Jﬂfﬁlﬁjl-ﬂ

Define work. Write its mathematical formula. What is its-unit?
Define its unit.

- B 7 _ - -
LS St e 1 U g S P s

Define kinetic energy and also derive its formula.

.ﬂ"++ . ot -~ . - . ) -~
SN b N E A PSS O

Define potential energy and also derive its formula.

. * * TN * 7ol
- :.)Jﬁ'l.l_J;""JlﬂE‘r’I_;rUﬁu:fl'—-ffvL:'h..a{f'vr".""_:r

Write the names of important parts of solarhouse heating
system. Explain each part in detail.

_L,fj.:..JLEJ uri}..{ilﬁ_uf‘gl’l:iuﬂ?r‘ﬂri.._.ﬂ?'-:u’ilrflr

What is biomass? How biomass ¢an be converted into useful
energy?

-~ |'J - i F , &
Ce btV A LAY LG TR Sl S e UL

Write and explain the Mass-Energy equation of Einstein.

a3. Write detailed answers of the following

|'r. [ - o .:___.
'U:I:'*’L;’*uur'f'!fu'f#-."-r':L-ﬂi.iﬂu"Li.?Jl?l.*«' !

1 F Ml Lty S50 00

questions.

How kinetic molecular model of matter is helpful in differentiating
various states of matter?

‘-’.':_.;fu E_,-,)’._ff,__,":é.ﬁ—rﬁ;j L,E:.;,,J;Jl.v...ﬂ ufuJLbliLJ;gL.@JKE/uL

Explain the working of hydraulic press.

el M - rd -
- = Li?sufri-f -’Fiuf,.;...ﬂ k|

Explain the working of braking system in vehicles.

B SIS Vg VSIS 4

What is upthrust? Explain the principle of floatation.

-pﬂ)s&ﬁﬁjdfdf|£i_ffﬁ:_ :If[__J'#‘:_uFde.djblLﬂQ

How can we calculate the density of an object by using
Archimedes principle?

?Ujifﬁﬁyj*’ép?—iuff?d’ﬁixﬁﬁ“lplr"lﬁfu"fiﬂ

Explain how a submarine floats on the water surface and dives
down into water.

Define Young's Modulus. Derive the formula and write the unit.

{r"’f-;':’f:ﬂ/b\.f .-I'..-'-:-Iﬂ:-d&;ﬂ,;fdd&jgéf_ru:j e

'r.-l-.'. . P " - = | _.-:-
o, JFIUJ"*.-'L'FEL.-' | Sl uf_,/"dufjjr‘ﬁ

What is meant by evaparation? On what factors the evaporation
of a liquid depends? Explain how cooling is produced by
evaporation.

- " 2 A - &
éju?r:_ﬂ'ﬁ,;#!'lf,_'f A fﬁjﬁgfuilfﬁ-lfr:_ !ka—rﬂ.gd;j_:ﬂ;'l

_ o
Ce Qg St e oy
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Explain the volumetric thermal expansion.

“-—.{*"r“-""'?u’ 'i.—ﬁ HJJ’-'fbdf"-JI 4

Define linear thermal expansion in solids. Derive a mathematical
relation for linear thermal expansion. Define coefficient of linear
thermal expansion from this equation.

B e L Lt a7t S P SO Ul #
S e Lag st e g S

What is a bimetal strips? On what principle it is made? Give its
working and uses.

= 2 i~ - 9
U1 e bl U e 1t e U R s

Define Specific heat. How would you find the specific heat of
solid?

Tcﬁ‘.&llf-uﬁ’#éﬂﬁéxlfuﬁﬁu’réuf'é_?,;urﬁﬂ?;;'f

Numerical Problems

A train moves with a uniform velocity of 36kmh~? for 10s. Find
the distance travelled by it.

0K e FIFE N sl 9§ 36kmA ™ A
S e

A train starts from rest. It moves through 1km in 100s with
uniform acceleration. What will be its speed at the end of 100s.

5 ¢« =~ P ,
%1ﬂﬂﬁb£;ﬁﬁlbﬁfgfﬂf_d)ﬂj}b&‘;ﬁ@;}&{;g_‘f.ﬁl 2
7 b ' i . -J.l 5 w i b
e sld i ;,:;,;.J_ﬁyﬁf“] GD--T_L};'?’__LJH E"ﬁfyg..,g U=

A car has a velocity of 10ms !, It accelerates at 0.2ms ™2 for
half minute. Find the distance travelled during this time and the
final velocity of the car.

1

. # 4 -
et L 02ms ™ Fens T e W0ms S ndel 3

p - - + i -
-ULIT‘JJ"'Q{JL-HUT..-?' G EYS « S Lol r_.sf,.'J:_

A train starts from rest with an acceleration of 5ms~2. Find its
speed in kmh™?, when it has moved through 100m.

100380 2t A& E ML Emis 2 odetiz /gl 4
¢ SnfO kN B S K L8 S ik

How much time is required to change 22Ns momentum by a
force of 20N?

ST UAS20NL Lo gd 2 S22Ns s v L7 5

8 rE
Find the acceleration that is produced by a 20 N force in a mass sl st g L bl 50/ S S S20N 7 (L s\ 8kg 6
of 8 kg. Nl T |
g S F M
A body of mass 5kg is moving with a velocity of 10ms™. Findthe | &7, e« 25V r o, /o7 e i §10ms 2 2K K5 T
force required to stop it in 2 seconds. ‘ P P
-J/ I""J”".,_.ﬂi’ ;(JJ%;’_

A bullet of mass 20 g is fired from a gun with a muzzlewelocity
100 ms 1. Find the recoil of the gun if its mass is 5 kg.

..r:_1{]{}??’15_1.:‘.314%;.&:&1}1#_{“LJ:JJ?J:'?JJLEU?ZU_Q 8
- EREU’LF,_,"I_ﬁhi,)#f}”g;'lljurfuﬁr:r&i Js.ﬁ:

How much is the force of friction between a wooden block-ef
mass 5kg and the horizontal marble floor? The-coefiicient-of
friction between wood and the marble is 0.6.

AT EF e n LG IFIL B LS L 1 S K5 9
0630 Tt @i e nl p pEm$Helx

How much centripetal force is needed to'make a body of mass
0.5kg to move in a circle of radius 50cm with.a speed 3ms~1?

LV e frd 3ms™ e L A450emy A L #0510
?'jﬁ el S g A ij fé— L

A force is acting on a body making an angle of 30° with the
horizontal. The horizontal componentof the force is 20N. Find
the force.

-.;l‘__i_f"*;/rJfLHLE:JFJKSUDSJU{JHL’-’.ri:f'g'x{_l’r'?pffuﬁ.ﬁ_g 1
S ad e 20N e g

A man is pulling a trolley'en a-horizontal road with a force of
200N making 30° with the road-Find the horizontal and vertical
components of its force.

S8 S o€ 30° A LS Frze g S200NS L1 12
_-Hé r':l“' Jt:r:;duf J:r!a,_?j ILJJ:;J !_.;:_Ir;f;;ef

A force of 100N is applied perpendicularly on a spanner at a
distance of 10cm from a nut. Find the torque produced by the
force.

e S-S v e L 10eme 38 £100 13
,u‘:)r;*’:l"’" s

A nut has been tightened by a force of 200N using 10cm long
spanner. What length of a spanner is required to loosen the
same nut with 150N force?

150Nt Ul e s (200NZ i1 22101 0emes L1 14
08 v LI Ci e il

A mechanic tightens the nut of a bicycle using a 15¢cm long
spanner by exerting a force of 200N. Find the torque that has

Jore ek S e u e L 15em WU S200NEEL 15

tightened it. A
The steering of a car has a radius 16cm. Find the torque bl sitane S ENS0_cCM1602 40 b L K5 16
produced by a couple of SON. " ‘ ) .
_u:.-" I"'.?Lp
A man has pulled a cart through 35m applying.a force of 300N. | y e . 4 & _em3s,/ s 02 w2 €3 dN300ST 0 17
Find the work done by the man. C h o
_.u:_.-" r'le.u.-l Jlfk‘l
Page 9

For more, Visit (www.taleem360.com)(www.ustad360.com)




A girl carries a 10kg bag upstairs to a height of 18 steps, each FE 2086188 e i8S s S UFK SEI0SS T 18
20cm high. Calculate the amount of work she has done to carry ’ T
the bag. e Snd Ll SniEE e
A car weighing 12kN has speed of 20ms™. Find its kinetic S i 6 1 20ms L S K KN12o(1 .19
energy. ‘ i i
A stone of mass 500g strikes the ground with a velocity of 20ms- ;uii-at*lﬁfs.é“usufz{]ms‘i;.pf;-;;l*lfﬁﬂﬂu%’ﬁ_ﬂ 20
', How much is the kinetic energy of the stone at the time it ‘ o . _ .
strikes the ground? t$nd G d6d A enz F20ms ™!
A block weighing 20N in lifted 6m vertically upward. Calculate the | 5, 4,0 . 35 2 e UTd6meb S silssf Sl 320N G .21
potential energy stored in it. ’ T ST ) i
NVt
A 500g stone is thrown up with a velocity of 15ms™. Find its P.E oo o A S e F 10§ 15ms ™1 A& 012 41./500 .22
at its maximum height and K.E when it hits the ground. i e Ty B
S G S I F e gt G Py e
A body of mass 50kg is raised to a height of 3m. What is its et G By S e VI E A dm3S#7 L 1 S 650 23
potential energy? il ¥ CT -
A cyclist does 12 joules of useful work while pedaling his bike S aTK12] i te FEVSI PP L8 59100] s X 24
from every 100 joules of food energy which he takes. What is this T oty . i
efficiency? i T U
A motor boat moves at a steady speed of 4ms-'. Water Shdind S s S el 7 e g i Ams =18 wa i i 25
resistance acting on it is 4000N. Calculate the power of its ; o " L
engine. B EEE S Z4000N <
A man pulls a block with a force of 300N through 50m in 60s. E Y e 2 _E50mut60se 9 300N (18T 26
Find the power used by him to pull the block. 7 ST ) R
IR AN -
A 50kg man moved 25 steps up in 20 seconds. Find his power, if uf:l1ﬁcmdwj;';.J:;:_L‘:ﬂ:;u'prSuﬂmJiZDSJJT-E?E]JI;UEG 27
each step is 16cm high. " ' P
Ll S Uix
Calculate the power of a pump which can lift 200kg of water -u’ﬂ*r””;sLuL{-;-_ﬁﬁjdﬁufﬁmu¢1UE:"EFLZUngui-ff 08
through a height of 6m in 10 seconds. X W\ ¥ ° : P
Calculate the power of a pump which can lift 70kg of water b S (D2 2105 F S ks 16mI 070k gt ki 29
through a vertical height of 16 meters in 10 seconds. Also find -~y o R
the power in horse power. S A g e
A wooden block measuring 40cm x 10cm x 5¢cm has amass L9850 e F LA (1L Fe 40em X 1ocm X 5em 30
850g. Find the density of wood. ‘ i i e
L ETHOd A
The density of airis 1.3kgm™>. Find the mass of airin a'room S S P e 8m X 5m X dm < 1.3;{9,.,“—30:,3-_5&1}{ 31
measuring 8m X S5m X 4m. | S s
A cube of glass of 5cm side and mass 3064, has @ cavity inside SbdLis o £ i eg306 s L2202 25 32
it. If the density of glass is 2.55gem ™" . Find the volume of the T o ' S .
cavity. S ek L P 2.55gem ™3 5 .J:_:‘)ﬁd.:;
The mass of 200 cm?® of stone.is 500g..Find the density. LS U1 500g U AL 2200em? a
A student presses her palm by, herthumb with a force of 75N. LEFAL St S5 SO STEIN & Fiei e i 33
What would be the pressurewunder her thumb having contact S ' _ _ 0T
area 1.5cm27? ?@yﬁltftgﬂlu:i,;i:.;li 1.51‘:1712{_“
The head of a pin is a square of side 10mm. Find the pressure J20NUL Lt 10mmit- Ll U7 e U A dulker L1 .34
on it due to a force of 20N. o o ‘ IR
_L,":_)T’:l"”ft;;ulj.j_ﬁlﬁr_uﬁs’
The diameter of the piston of a hydraulic press is 30cm. How L,Eft.J—#:-E-Lﬂ?r!'jbﬂhzﬂﬂﬂﬂw-c_EDcmﬁL.'EEﬁiuf{JuIl, 35
much force is required to lift a car weighting 20,000N on its i L s ,
piston if the diameter of the piston of the pump is 3cm? Cx3em ALK Lt 1 2K
A wooden cube of sides 10cm each has been dipped completely | _ ..., ,buuf;,:&_ < 10emiuUdz LIRS A 36
in water. Calculate the upthurst of water acting on it. o T ‘ e .
-.;_.:JIT".!J‘*}UJJJ’Q L,.!Lﬂfff-di{
The weight of a metal spoon in air is 0.48N. its weight in wateris |~ ¢ 4 _ 2004205810 B e of #0480 Jlos s 37
0.42N. Find its density. " T )
-/ r':l"'
A student presses her palm by her thumb with a force of 75N. LERL e od PGB AINTE = Fie A 38
How much would be the pressure under her thumb having 11 11~
contact area 11.5cm?? Wl 2 o0 4L 1.50m? 2
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The head of pin is a square of side 10 mm. Find the pressure on
it due to a force of 20N.

P - PR . i 4
St UN2000E e mMI0 - LIS U7 e VT A1 - QUKL L

-7 "*J"",:"Jf Ulsd 2l g

39

A wooden cube of sides 10 cm each has been dipped completiey
In water calculate the upthurst force of water acting on it. When
density of water is 1000kgm 3.

,_-

J-ctribsi gk P UL e 10em $UT° 187 AR5

e .1000kgm™3 Gl Ly Jr oSl

40

A barge, 40 metre long and 8 metre broad, whose sides are
vertical, floats partially loaded in water. If 125000 N of cargo is
added, how many metres will it sink?

2 roe b F U LU A 2 B 240 L
W& o e d 8125000

41

A steel wire of cross-sectional area 2 x 1077 is stretched
through 2mm by a force of 4000N. Find the young’s modulus of
the wire. The length of the wire is 2m.

=L 63 S4000N, Huﬁ?;u’*z x 107 Ze 0
AR

] | 7 ra ]
SUSUI B Sk i Kkt e b v L€ 2mmy

-£_2I]’l

42

How much heat is required to increase the temperature of 0.5kg
of water from 10°C to 65°F?

iy uf..a.ﬂ’,,_.. I_:."-.":-..-'l ?A—G-L-WF_L-EEDC-——- 1[] Cff"'t{ L"L-" ‘b[} 9

IF’"
¢ x

43

An electric heater supplies heat at the rate of 1000 joules per
second. How much time is required to raise the temperature of
200g of water from 20°C to 90°C?

Cg:,;ffég|"fﬁ20D-::.F’;ry’..".a;lf LL}J1D[}D;&:?_J??I_.§I
% v KLl % F90°Ce 20°

44

A container has 2.5 litres of water at 20° C. how much heat is

. . ei7F L LS 1c 2 JeHABRE #20°C U2 27 L1 45
required to boil the water? T ' p
Tk
How much ice will melt by 50000J of heat? Latent heat of fusion er E Sk s i, 578 L“f-_uu e & Sre7J250000 46

of ice is equal to 336000Jkg".

--336000Jkg .

How much heat is required to change 100g of water at 100°C into
steam? Latent heat of vaporization of water is 2.26 x
10%jkg™1.

S knens & LLEAIE iy £4100°CH 31 /100

0226 X 10%]kg ™t e 7§ S a2

A7

Calculate the increase in the length of an aluminum bar 2m long
when heated from 0°C to 25°C. The thermal coefficient of linear
expansion of aluminum is 2.5 x 107K 1.

A balloon contains 1.2m? air at 15°C. Find its volume at 400C.
Thermal coefficient of volume expansion of airis 3.67 X
10~ %m>3.

U“L} JLer b iT-f Vi .ff-J-" 5°Ce ﬂnC:thfr;?fll_glu{Iffz

252 e B Lid Qi $b S o o S
-« 107°K1

48

WS A0°C Lk s 1.2m3, 15°CUt e i L
—« 3.67 X 10‘3m3;*§¢1.:f;”|fiilb{:,hrfg:fr.'uirﬁﬁ

49

Brass rod is 1 m long at 0° C. Find its length at 30°.C.
(Coefficient of linear expansion of brass 1.9 x-10 5K ™4

G S 30°CEAE U1 5 2 L 52 0°CLu S S

1.9 X 107Kt ed et B Laug dnrde £ S5

90

Find the volume of a brass cube at 100*€ whose-ide is 10cm at

ime of a | _ L Fs fe 10°CL0°CHUS7 St ik d £ J5,100°C 51
0° C. (Coefficient of linear thermal expansion of brass 1.9 x ‘
10-5K-1 = 1.9 X 105Kt dfud @y Zang di 7 4
MCQ Answer Keys Annual Guess 2023
ECh DR E g
Y 2 KO {C} 14 15 16 - 17 18 {A] (A)
N 22 KE) 24 NGW 25 {B} 26 HER 27 {B} 28 {c; (A) (A)
(8) BRYE (A) O 3¢ oW 35 BON 3 BN 37 B0 3¢ Eb) (A) (B)
(8) YW (B) ©N 4 EON 45 BN 4 EON 47 HOR 22 H@ (A) (C)
8) IA (C) Cc BN c B 0 B & EA ¢ EEN D) (B) (D)
A KR (B) 0 B A KN ¢ B » KA ¢ KN © (C) (C)
BEN 2 K&K 2 BER "+ K&B 5 BER 7 K&R 77 KN ¢ K=R (D)
32 345535 33 (A)
92.'9495%“95 1 (D)
1D2131ﬂ41ﬂ51'5 1031@91 (D)
111 112 (D) IEEN ) KR 0 EEEN (B) BEER (C) A) EEER (&) BEEN (») EMAR (B)
122 B B) BN B) KR D) (A) B) EEER B) EEER (A ERELR (A)
Page 11

For more, Visit (www.taleem360.com)(www.ustad360.com)




KE 0 K 5 EEY c KR D) c) KN c B 5 EEX » KR © (B)
141 142 143 (B) Nl 146 14? 148 149 Ll (C)
151 78 c) EER (B (A) o) KR » B4 ¢ EEX & E&ER c EER C)
161 1521:33 8 B) R (C) awmamgm} (C)
171 R 172 KR 173 BE ?4-1?5- E::-‘I? C) KR 6 BN ) EE B)
181182183 -1u5-18b-1?188‘|89190 (A)
CIN ) EEX o) EERN B) -195-19519? c) EEN ) BEER B Bl A
201 2U2203 - 052ﬂ?20820921ﬂ (C)
211 R 212 ENE 213 DY (D) (A) n Bl » B ¢ BER 6 B2R D)
221 222 223 227 228 HER 229 N 230 HE)
231 232 HNR 233 BB (C) (C) 5N 237 KR 238 BN 239 - Ul (B)
241 NN 242 B 243 (D) 46 24? C) & -249-250 (D)

c B2 D) R D) (B) (A) N 257 KEN 258 kBN 259 HBR 260 KG
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